Topic Test

Paper 1

1. A couple has four children whose blood types are A, B and AB. What is the likely combination of the parents’ genotypes?
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2. What is the initial purpose of sequencing the human genome?

A. 
To determine the order of genes in a chromosome

B. 
To determine the number of genes in the nucleus

C. 
To determine the order of bases in DNA

D. 
To determine the type of chromosomes in offspring
3. Which information is used when constructing a karyotype?

I. Size of chromosomes

II. Position of the centromere of the chromosome

III. DNA content of the chromosome

A. I only

B. II only

C. I and II only

D. I, II and III
16. The amount of DNA in a haploid cell of an organism can be represented by X. What would be the quantity of DNA in a cell from the same organism at the start of meiosis?

A. 0.5X

B. X

C. 2X

D. 4X
17. A parent organism of unknown genotype is mated in a test cross. Half of the offspring have the samephenotype as the parent. What can be concluded from this result?

A. The parent is heterozygous for the trait.

B. The trait being inherited is polygenic.

C. The parent is homozygous dominant for the trait.

D. The parent is homozygous recessive for the trait.
Paper 2

Section A

----

Section B

Answer one question. Up to two additional marks are available for the construction of your answer.. 

 1. 

(a) Draw diagrams to show the four stages of mitosis in an animal cell with four chromosomes. 







      (5 marks)

(b) Outline the differences between the behaviour of the chromosomes in mitosis and meiosis.








      (5 marks)

(c) Discuss the ethical issues of in vitro fertilisation (IVF) in humans.      (8 marks)
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